Through—type Terminal Block
|

E Y F .~ Pitch 16mm
1]
BB F2056NE
£ 1& AC600V  75A

Rating

HZER DC500V  1000MQ LA E
lusulation Resistance| DC500V 1000MQ and over

W & T AC3000V 143RALLE
Withstands Voltage AC2500V 1minute and over
nlCE
Screw Diamieter M5' M6
SER 22. Omnt

Compatible Wire
—f%/\ZE  General Tolerance *+0.5

|RF§_/Sca|e %, BLLUnitmm

I

(=)

=)
[®f]
I®f
el

Lo
3 13 2
17
A @\ -
—
| | — —
- == z 38
o & )
A 14
67 17
24
BREEA 3 / 4)
S (4 [ [4]p.

+ Ordering Form:Type No.  Screw Diameter No.of Poles(P)
R E A BRI RV IIM5232. AN m, MBAY3. ON-m T,
M5EEMBIH Y T DTIFRETF SV, )
« Connection screw:Tightening torque is M5:2.4N-m, M6:3. ON-m.
(Specify either M5 or M6 for a connecting screw)

CHN—EA TV g v E R TOWET O TEIAEOBIIE S EDORRBIC-PCT & ZFRAL 7SV, (INDEXE )

TR LAN—ZIRIIA L 2D 9, Z2ofiA 7> 3 3%y a— FE— X (F2117)
« Information for Customer, the cover is otional.Purchasing method, add “-PCT” (Cover) at the end of the Part name. (See Index for reference)

The cover will be delivered separately.Other options$¢ Jumper (F2117)

M {Lt#k.Specifications.

ERZE/Part No. £ %/ Part No. B Material #R#& . Standard ~t3%/Size 038 /Treatment % /Remark
1 F—/)L K Base PBT UL H @ Black
2 HESH Terminal 4 Brass C3604B =9V Ay ENickel -Plated
M5 X 0. 8 X 12L

3 FERR e A Screw i Brass C2700W MEX 10X 1L | =27V A 7 Fickel-Plated| PH. Sk LRSS Type®
4 HoN— Cover Y H—AKA b Polycarbonate UL t=1.0 % B Transparent
5 F /38— 1k B R Cover retaining screw|  Hi8 Brass C2700W M3 =9IV A 9% Nickel-Plated] PWEALAF  Type®
6 H3—=1EF > b Cover retaining nut | $£  Steel SWcH M3 S m A T




